N = 0l & At & M A

E PN
Y YRS

o2l HEHH K& (SH==1t) (&)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
Gt ==t 26,621,000 29,199,033 A 2,578,033
= 19,551,000
< 40,000
Al 7,030,000
MWEEs 26,621,000 29,199,033 A 2,578,033
= 19,551,000
< 40,000
Al 7,030,000
LI HHXIZE (8F=1t) 26,621,000 29,199,033 A 2,578,033
= 19,551,000
< 40,000
Al 7,030,000
ot=E=SE3H N& dE= 7,030,000 1,721,033 5,308,967
404 BIIGHE2NES 7,030,000 0 7,030,000
01 BIILEEIHN=2HES 7,030,000 0 7,030,000
Odt=Z At EE3IH N& dE3
6,400,000,000& 14 6,400,000
Oot==FH| Htze| 2IsHE
100,000, 000& * 14 100,000
OFUEHU A BHHAIY XA =2 530,000
~ 7 EW3E ¢ 5ta7 W
40,000,000& » 14! 40,000
—&ES 1402-1¢ dt=2 FHl
50,000,000& » 14! 50,000
—Sns FULAH 22 dt+=& ]
90,000,000& » 14! 90,000
— WS 483K €& o= &l
200,000,000& 14! 200,000
— S 65-1 Bi42 2AY 525 AX
150,000, 000& * 14! 150,000
20053 BTLGOH+=ZtHEHIAIY 22 3,855,000 5,742,000 A 1,887,000
= 3,855,000
404 BIILHENES 3,855,000 5,742,000 A 1,887,000
= 3,855,000
01 BIILELENHUNENES 3,855,000 5,742,000 A 1,887,000
02005 BTL St HEHIAIY SUZ
3,855,000,000& 14 3,855,000
= 3,855,000
as ZI=HelAE XA 930,000 5,363,000 A 4,433,000
= 930,000
404 B H=2HEZ 930,000 5,363,000 A 4,433,000
= 930,000
01 BIILEENHIMENES 930,000 5,363,000 A 4,433,000
O&sS EJI=HMelAld XA
930,000,000 =14 930,000
= 930,000




E PN
Y YRS

gl WRAHH XIS (ot==1t) (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
el EH Y AEIZA 600,000 0 600,000

= 600,000
404 IO MENES 600,000 0 600,000
= 600,000
01 BIVLELEIHNESHEEZ 600,000 0 600,000
OHHE=HZZ A& I AL 600,000,000 1A 600,000
= 600,000
tHeolz StxMala7 HAHAMe A& 1,070,000 408,000 662,000
= 1,030,000
< 40,000
404 SIS NHENES 1,070,000 408,000 662,000
= 1,030,000
< 40,000
01 SI)LSEIAHAN2HEZ 1,070,000 408,000 662,000
O0lZ2 st=XelE+ AAHMel AI8AS
1,070,000,000& 14 1,070,000
= 1,030,000
< 40,000
2006 BTLOt=ZHEUHIAIYE 2= 4,934,000 6,572,000 A 1,638,000
= 4,934,000
404 SIS NHENES 4,934,000 6,572,000 A 1,638,000
= 4,934,000
01 BJLSEIAHNBHEZ 4,934,000 6,572,000 A 1,638,000
02006 BTLOI=2t HEHIAIE LU=
4,934,000,000& » 14! 4,934,000
= 4,934,000
=28 Z36t=XelAld DEXMa AIE3A 1,909,000 310,000 1,599,000
= 1,909,000
404 IO MENES 1,909,000 310,000 1,599,000
= 1,909,000
01 BJILEEIAHNSHEEZ 1,909,000 310,000 1,599,000
O=g33dt=MelAlE D&Ml XA
1,909,000,000& 14 1,909,000
= 1,909,000
ECH=E8ZE ME3A 2,524,000 5,100,000 A2,576,000
= 2,524,000
404 SIOILHENES 2,524,000 5,100,000 A 2,576,000
= 2,524,000
01 BV LELEIAHNSHEEZ 2,524,000 5,100,000 A2,576,000
O ECi=8TZ MLIA
2,524,000,000& 14! 2,524,000
= 2,524,000
2009 BTLOt=2 AHEHIAIY LU= 619,000 0 619,000
= 619,000




E PN
Y YRS

gl WRAHH XIS (ot==1t) (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
404 IO MENES 619,000 0 619,000
= 619,000
01 BIILEEIHNSHEEZ 619,000 0 619,000
O2009¢ BTL ot=2tHEHl AIE U=
619,000,000 » 14! 619,000
= 619,000
o8 L SIS A 3,150,000 0 3,150,000
= 3,150,000
404 SO MENES 3,150,000 0 3,150,000
= 3,150,000
01 BIVLELEHIHNESEEZ 3,150,000 0 3,150,000
O goith=8=% =& 3, 150,000,000 3,150,000
= 3,150,000




